DRAWING NO. -1

0.

@CONNECTORS TO0 BE PLACED ON RACK IN COLUMNS.

SUGGESTED ORDER SHOWN IN DISPLAY RACK DETAIL.

4. EACH HOOK TO CARRY o5 BAGS.

@FULL DISPLAY RACK (10101442) COMPRISES AN EMPTY DISPLAY RACK (10101118). REORDER CARDS, (SEE SHEET 4)

AND 5 PACKAGES OF EACH CONNECTOR SHOWN ON TABLE (120 PACKAGES TOTAL).

INDIVIDUAL ITEMS AVAILABLE FOR REORDER.

>HEAT SHRINK SPLICES ARE NOT UL/CSA CERTIFIED. BAGS WILL NOT SHOW UL/CSA LOGOS.

} INDIVIDUAL REORDER CARDS ARE INCLUDED WITH EACH BOX OF CONNECTORS. (SEE SHEET 4)

BAG DETAIL

10104489 / 6 O 3 2 ]
BILL OF MATERIAL REV.| DATE DESCRIPTION FCO | BY [C’K'D.
I TEM CATALOG INSULATION {INSULATION| WIRE - p5/04/2018 CHANGE THE CONTROL # ON LABELS  149020] PP | VS
\o/| NUMBER UMBER TYPE / DESCRIPTION | "5~ o ColorR | SivE | STUD SIZE | QTY/BAG | QTY/BOX
A |10101443|  YHSS18BGI0 SPLICE 7>HEAT SHRINK| RED | 22-18 —— 10 5
B |10101445|  YHSS14BG10 SPLICE [/>HEAT SHRINK| BLUE | 16—14 —— 10 |
C |10101447|  YHSS10BG10 SPLICE 7> HEAT SHRINK| YELLOW | 12-10 —— 10
D [10101444 SP18BG25 SPLICE VINYL RED | 22-18 —— 25
E (10101446 SP14BG25 SPLICE VINYL BLUE | 16—14 —= |
F (10101448 SP10BG25 SPLICE VINYL YELLOW | 12-10 —— T AT T e T e F e T F e
G |10101449| TP188RBG25 RING VINYL RED | 22-18 #8
H | 10101451|  TP148RBG25 RING VINYL BLUE  [16—14 #8 A B C M N O
| [10101453|  TP108RBG25 RING VINYL YELLOW | 12-10 #8
J |10101450| TP1810RBG25 RING VINYL RED | 22-18 #10 e I
K ]10101452| TP1410RBG25 RING VINYL BLUE | 16—14 #10
L |10101454| TP1010RBG25 RING VINYL YELLOW | 1210 #10 D b g > Q R
M [10101462| QP18F25X03BG25 | QUICK DISCONNECT VINYL RED | 22-18| .250 FQC
N [10101464 | QP14F25X03BG25 | QUICK DISCONNECT VINYL BLUE | 16—14 | .250 FQC Sncablase caE Rlae e E e FT o F T T
O |10101466| QP1OF25X03BG25 | QUICK DISCONNECT VINYL YELLOW | 12-10 | .250 FQC G . S T s
P |10101455|  TP186FBG25 FORK VINYL RED  [22-18| #6 SPADE
Q |10101457|  TP146FBG25 FORK VINYL BLUE | 16—14 | #6 SPADE
R |10101459|  TP106FBG25 FORK VINYL YELLOW |12-10 | #6 SPADE e T e T O oo T o T
S | 10101461|  TP188FBG25 FORK VINYL RED | 22-18| #8 SPADE | % ] Y W Y
T 110101458 |  TP148FBG25 FORK VINYL BLUE | 16—14 | #8 SPADE
U |10101460|  TP108FBG25 FORK VINYL YELLOW |12-10 | #8 SPADE
V |10101456| TP1810FBG25 FORK VINYL RED | 22-18 |#10 SPADE
W |10101463| TP1410FBG25 FORK VINYL BLUE | 16—14 |#10 SPADE '
X [10101465| TP1010FBG25 FORK VINYL YELLOW | 12-10 |#10 SPADE 25 5 SIDE 1 OF RACK SIDE 2 OF RACK
8>110101118 | 22WHITESPINNER |22 INCH EMPTY SPINNER —— —— —— —— —— —— SCALE: 1/4 SCALE: 1/4
22 INCH FULLY LODDED
} 10101442 | 22WHITESPINNERFL SPINNER —— —— —— —— —— ——
Pt o LU O
e o o oorasry
BURNDY o e i e
Catalog No./Numéro de cat.: instruction drataiation
SP18BG25
#22=#18 ANG e T o
Vinyl Splice/Manchon Vinyle /?\\{
NOTES: @ QTY: 25 PCS @ e
/1/ 17YL 24651 9\\ connecleur.
1. ALL CONNECTORS TO BE PACKAGED IN 4—1/2" X 3-3/4" BAGS WITH THE QTY'S 7||||M|!LHC!"|H[!M!W” . R j CE e,
SHOWN ON PAGES 2 & 3. V S
2. REFER TO SHEETS 2 & 3 FOR BAG DETAILS.
FRONT BACK

UNITED STATES:

CANADA:

1-800—-361-6975 (QUEBEC)
1—800—387—-6487 (ALL OTHER PROVINCES)

TO ORDER BURNDY® PRODUCTS CALL

1-800—346—4175 (LONDONDERRY, NH)

FOR PRODUCT INFO: http: //www.burndy.com

DISPLAY RACK/BAG PRINTING

ITEM NO: SEE TABLE

CAT NO:

SEE TABLE

SCALE:

1/1

DRAWN BY:

R. BOISVERT 07/23/09

CHECKER:

DSN APPVL:

J. MICHAUD 07/30/09 mm° °
5 —77 8 BURNDY

MFG_APPVL:

QC APPVL:

J. BRODEUR 07/31/09

MKT APPVL:

R. CAVANAUGH 07/30/09

DRAWING NO

REV

PROD_FAM:

PROJECT #

- SIZE

10104489

DOCUMENT TYPE: Sales D

REL LEVEL:

AutoCAD

SsHEET 1 oF 4

3

2

=




DRAWING NO.

10104489

2

>

Made in U.S.A.
Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
YHSS18BG10

422418 AWG
H/S Splice/Manchon Thermoretractable

QTY: 10 PCS

/7 81810 48667 2

Made in U.S.A.
Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
YHSS14BG10
#6—#4 AWG

H/S Splice/Manchon Thermoretractable

QTY: 10 PCS

/81810 48665 8

Made in U.S.A.
Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
YHSS10BG10
#12—#10 AWG

H/S Splice/Manchon Thermoretractable

QTY: 10 PCS

/7 81810 48663 4

Made in U.S.A.
Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
SP18BG25
#22—4#18 AWG
Vinyl Splice/Manchon Vinyle
LISTED

@._QTY: 25 PCS Do

17YL 246519

7 81810 48631 3

Made in U.S.A.
Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
SP14BG25
#6—#14 AWG
Vinyl Splice/Manchon Vinyle
LISTED

@ _QTY: 25 PCS e

17YL 246519

7 81810 48629 O

"] Made in U.S.A.

Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
SP10BG25
#12—410 AWG

Vinyl Splice/Manchon Vinyle

LISTED
@)_QTY: 25 PCS (e

17YL 246519

/7 81810 48627 6

Made in U.S.A.
Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
TP188RBG25
#22—#18 AWG, #8 Screw/Vis

Ring Terminal /Cosse pré—isolée a oeil

Y QTY: 25 PCS @@e

17YL 246519

7 81810 48661 O

Made in U.S.A.
Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
TP148RBG25

#16—#14 AWG, #8 Screw/Vis

Ring Terminal /Cosse pré—isolée G oeil

LISTED

@), QTY: 25 PCS @

17YL 246519

/7 81810 48651 1

" |Made in U.S.A.

Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
TP108RBG25

#12—#10 AWG, #8 Screw/Vis

Ring Terminal /Cosse pré—isolée @ oeil

.QTY: 25 PCS @e

17YL 246519

/7 81810 48641 2

Made in U.S.A.
Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat..
TP1810RBG25

#22—4#18 AWG, #10 Screw/Vis
Ring Terminal /Cosse pré—isolée & oeil

LISTED

QTY: 25 PCS (Pe

17YL 246319

/7 81810 48655 9

"I Made in U.S.A.

Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
TP1410RBG25
#16—#14 AWG, #10 Screw/Vis

Ring Terminal /Cosse pré—isolée G oeil

LISTED

QTY: 25 PCS e
17YL 246519

/7 81810 48645 O

“ | Made in U.S.A.

Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
TP1010RBG25
#12—#10 AWG, #10 Screw/Vis

Ring Terminal /Cosse pré—isolée & oeil

LISTED

QTY: 25 PCS e
17YL 246519

7 81810 48635 1

REV.

DATE

DESCRIPTION

ECO BY

C'K’D.

F D5/04/2018

CHANGE THE CONTROL # ON LABELS 49020 PP

VS

Set SHEET ONE FOR NOTES.

TO ORDER BURNDY® PRODUCTS CALL

UNITED STATES:
1-800—346—4175 (LONDONDERRY, NH)

CANADA:
1-800—-361-6975 (QUEBEC)
1—800—387—-6487 (ALL OTHER PROVINCES)

FOR PRODUCT INFO: http: //www.burndy.com

BAG PRINTING

ITEM NO: SEE TABLE (SHEET 1)

CAT NO: SEE TABLE (SHEET 1)

SCALE: 1/1

DRAWN BY: R. BOISVERT 07/23/09

CHECKER: _ J. MICHAUD 07/30/09 \© °
DSN_APPVL: J. MICHAUD 07/30/09 | wmmm BURNDY
MFG_APPVL: —— —=

QC APPVL: J. BRODEUR 07/31/09

MKT APPVL: R. CAVANAUGH 07/30/09 DRAWING NO REV
PROD FAM: —-—

PROJECT # —-— SIZE 10104489 ’f
DOCUMENT TYPE: Sales

REL LEVEL: AutoCAD D SHEET 2 oF 4

3

2

=



DRAWING NO.

10104489

2

Made in U.S.A.
Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
QP18F25X03BG25

#22—-#18 AWG, .250" Width/Large

Female Disconnect/Cosse Femelle

L@SD QTY: 25 PCS @e

46DE 207131

/7 81810 48625 2

Made in U.S.A.
Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
QP14F25X03B6G25
#6—#14 AWG, .250” Width/Large

Female Disconnect/Cosse Femelle

S QTY: 25 PCS @e

46DE 207131

/7 81810 48623 8

Made in U.S.A.
Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
QP10F25X03BG25
#12-#10 AWG, .250” Width/Large

Female Disconnect/Cosse Femelle

Y QTY: 25 PCS @Pe

46DE 207131

7 81810 48621 4

" | Made in U.S.A.

Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
TP186FBG25
#22—4#18 AWG, #6 Screw/Vis

Fork Terminal /Cosse a Fourche

a8 QTY: 25 PCS e

17YL 246519

7 81810 48657 3

" | Made in US.A.

Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
TP146FBG25
#16—#14 AWG, #6 Screw/Vis

Fork Terminal /Cosse a Fourche

Y QTY: 25 PCS @e

17YL 246519

7 81810 4864/ 4

" | Made in U.S.A.

Fabriqué aux E.U.

BURNDY

Catalog No. /Numéro de cat.:
TP106FBG25
#12—-#10 AWG, #6 Screw/Vis
Fork Terminal/Cosse a Fourche

TN QTY: 25 PCS e

17YL 246519

/7 81810 48637 5

“|Made in U.S.A.

Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
TP188FBG25

#22—#18 AWG, #8 Screw/Vis

Fork Terminal/Cosse a Fourche

AN QTY: 25 PCS e

17YL 246319

/7 81810 48659 7

" | Made in US.A.

Fabriqué aux EU.

BURNDY

Catalog No./Numéro de cat.:
TP148FBG25
M6—#4 AWG, #8 Screw/Vis

Fork Terminal/Cosse a Fourche

L@SD QTY: 25 PCS (e
17YL 246519

/7 81810 48649 &8

" | Made in US.A.

Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
TP108FBG25
#12—#10 AWG, #8 Screw/Vis

Fork Terminal /Cosse a Fourche

Y QTY: 25 PCS @Pe

17YL 246519

/- 81810 48639 9

Made in U.S.A.
Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
TP1810FBG25
#22—#18 AWG, #10 Screw/Vis

Fork Terminal /Cosse a Fourche

LISTED

QTY: 25 PCS e

17YL 246519

/7 81810 48653 5

Made in U.S.A.
Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
TP1410FBG25
#16—#14 AWG, #0 Screw/Vis

Fork Terminal /Cosse a Fourche

LISTED

QTY: 25 PCS e

17YL 246519

/7 81810 48645 ©

Made in U.S.A.
Fabriqué aux E.U.

BURNDY

Catalog No./Numéro de cat.:
TP1010FBG25
#12—#10 AWG, #10 Screw/Vis

Fork Terminal/Cosse a Fourche

LISTED

QTY: 25 PCS @e

17YL 246519

7 81810 48633 7/

REV.

DATE

DESCRIPTION

ECO BY

C'K’D.

F D5/04/2018

CHANGE THE CONTROL # ON LABELS 49020 PP

VS

Set SHEET ONE FOR NOTES.

TO ORDER BURNDY® PRODUCTS CALL

UNITED STATES:
1-800—346—4175 (LONDONDERRY, NH)

CANADA:
1-800—-361-6975 (QUEBEC)
1—800—387—-6487 (ALL OTHER PROVINCES)

FOR PRODUCT INFO: http: //www.burndy.com

BAG PRINTING

ITEM NO: SEE TABLE (SHEET 1)

CAT NO: SEE TABLE (SHEET 1)

SCALE: 1/1

DRAWN BY: R. BOISVERT 07/23/09

CHECKER: _ J. MICHAUD 07/30/09 \© °
DSN_APPVL: J. MICHAUD 07/30/09 | wmmm BURNDY
MFG_APPVL: —— —=

QC APPVL: J. BRODEUR 07/31/09

MKT APPVL: R. CAVANAUGH 07/30/09 DRAWING NO REV
PROD FAM: —-—

PROJECT # —-— SIZE 10104489 ’f
DOCUMENT TYPE: Sales

REL LEVEL: AutoCAD D SHEET S oF 4

3

2

=




DRAWING NO.

10104489 / 4 3 2 ]
SEE SHEETS REV.| DATE DESCRIPTION ECO BY [C'K’D.
REORDER CARD INFORMATION CARD INFORMATION 5 % 35 = b5/04/2018 CHANGE THE CONTROL § O LABES  [49020] PP | VS
| TEM CATALOG | TEM CATALOG LETTER
NUMBER NUMBER NUMBER NUMBER
10104465 YHSS18BGTORC 10101445 YHSS18BG10 A
101044606 YHSS14BGT10RC 10101445 YHSS14BG10 B
10104467/ YHSST10BGT10RC 10101447 YHSST0OBG10 C
10104468 SP18BG25RC 10101444 SP18BG25 D
10104469 SP14BG25RC 10101446 SP14BG25 E
10104470 SP10BG25RC 10101448 SP10BG25 F
10104471 TP188RBGZ5RC 10101449 TP188RBGZ5 G
10104472 TP148RBG25RC 10101451 TP148RBG2Z5 H
10104473 TP108RBG25RC 10101455 TP108RBGZ5 |
10104474 TP1810RBG25RC 10101450 TP1810RBG25 J
10104475 TP1410RBG25RC 10101452 TP1410RBG25 K
10104476 TPTO0T0RBGZ25RC 10101454 TP1010RBG25 L
10104484 | QP18F25X03BG25RC [10101462 | QP18F25X03BG25 M
10104486 | QP14F25X03BG25RC 10101464 | QP14F25X03BG25 N W_J g
10104488 | QP10F25X03BG25RC |10101466 | QP10F25X03BG25 O
10104480 TP148FBG25RC 10101458 TP148FBG25 P
10104479 TP140FBG25RC 10101457 TP146FBG25 Q
101044381 TPT106FBG25RC 10101459 TP106FBG25 R ]
101044835 TP188FBG25RC 10101461 TP188FBG25 S BURNDY
10104477 TP186FBG25RC 10101455 TP186FBG25 T
10104482 TPT108FBG25RC 10101460 TP108FBG25 U
10104478 TP1810FBG25RC 10101456 TP1810FBG25 V CGtO‘Og Nob/NumérO de CGJ[,:
10104485 TP1410FBG25RC 10101465 TP1410FBG25 W
10104487 TP1010FBG25RC 10101465 TP1010FBG25 X @ SP18BGZ5
#22—#18 AWG
@ Vinyl Splice /Manchon Vinyle
LISTED Q Yo 20 PCS
SIS 110 T
17YL 246519
/81810 483051 5

NOTES:

1. LAYOUT ON REORDER CARD TO MATCH BAGS WITH THE ADDITION OF
"TIME TO REORDER, HEURE DE COMMANDER A NOUVEAU” AS SHOWN.

@CATALOG NUMBER AND DESCRIPTION TO COINCIDE WITH LETTERS A—X ON SHEETS 2 & 3.

5. REORDER CARDS TO BE PACKAGED WITH EACH BOX OF CONNECTORS ORDERED.

4. REORDER CARDS TO BE APPROXIMATELY THE SAME HEIGHT AND WIDTH AS BAGS.

(3—3/4" WIDE X 4—1/2" TALL)

TIME TO REORDER
HEURE D COMMANDER

A NOUVEAU

Made in U.S.A./Fabriqué aux E.U.

FORM 1 (—”

TO ORDER BURNDY® PRODUCTS CALL

UNITED STATES:
1-800—346—4175 (LONDONDERRY, NH)

CANADA:

REORDER CARD

ITEM NO: SEE TABLE

CAT NO: SEE TABLE

SCALE: 1/1

DRAWN BY: R. BOISVERT 07/23/09

CHECKER: _ J. MICHAUD 07/30/09

[ ] (]
DSN APPVL: J. MICHAUD 07/30/09] 1 }“ BURNDY
1—800—-361—69/5 (QUEBEC) MEG APPVL: —— __ ‘
1—800—38/—6487/ (ALL OTHER PRO\/H\ICES) QC APPVL: J. BRODEUR 07/31/09
MKT APPVL: R. CAVANAUGH 07/30/09 DRAWING NO REV
. . PROD FAM: ——
FOR PRODUCT INFO: http: //www.burndy.com RO — 10104489 ’f
DOCUMENT TYPE: Sales
REL LEVEL: AutoCAD D SHEET 4— OF 4




